# Original Article

# Higher order Burgers and Non Linear Equation with Different Boundary Condition by HPM

# Nahid Fatima

Associate Porfessor, Department of Math and Science, Prince Sultan University, Riyadh, Saudi Arabia

**Abstract** — In this paper we are studying importance of Homotopy Perturbation Method. To check the efficacy of this method three problem of Partial Differential Equation (PDE) will be solved using HPM. The numerical results shall prove that this method is a useful and impressive for explanation of PDE and advantageousness of the new capability. The HPM is defined as a new idea, new developments techniques certainly provided the conclusion.

**Keywords** — Analytical Solution, Higher Order Differential Equation, Homotopy Perturbation Method.

# I. INTRODUCTION

Many physical problems are being described by PD equation in mathematical physics along with more range of application in science and engineering [3, 5, 8, 12, 13,15]. The inspection of correct or approximate explanation to this PD equation will advise out to know these physical developments are being exceptional. In this article we will provide correct explanation of a few linear partial differential equation[16,17.18,19,24,25]. It is evident to examine that this formula delivers the correct explanation.

The present method is simple, skilful as well as broadly helpful to explain non liner differential equation. In HPM a homotopy is formulated by suggested and installed parameter  $P \in (0, 1)$ .

The HPM is very easy to implement, effective, and convenient over available analytic methods for obtaining complex mathematical solutions of linear and nonlinear expressions. In recent decades, HPM was first presented by Ji Huan He [1, 2, 4,14]. The HPM is capable in studying various linear and nonlinear physical systems [21,22,23]. HPM is a combination of classical perturbation methods and homotopy in topology. This coupling of methods provides a new tool of finding analytical solutions of problems occurring in many branches of science and technology.

# II. HOMOTOPY PERTURBATION FORMULA (HPM)

Suppose

$$B(u) - g(s) = 0, \quad s \in \xi$$
 (2.1.1)

along the initial condition of

$$C(u, \frac{\partial u}{\partial x}) = 0, \quad s \in \lambda,$$
 (2.1.2)

point B is a general operative g(s) is an accepted analytic action, C is an initial operative, also  $\lambda$  is the boundary of the domain  $\xi$ . The operative B as it may be generally divided toward two operative, K and M, point K is a linear while M a nonlinear operative.

Equation (2.1.1) can be further generalized as

$$K(u) + M(u) - g(s) = 0$$
 (2.1.3)

proving the homotopy formula, we hence create a homotopy

$$v(s, p): \xi \times [0, 1] \rightarrow S$$
,

$$(v, p) = (1 - p)[K(v) - K(u_0)] + p[B(v) - g(s)] = 0,$$
(2.1.4)



Or

$$H(v, p) = K(v) - K(u_0) + pK(u_0) + pK(u_0) + p[M(v) - g(s)] = 0$$
(2.1.5)

point  $p \in [0,1]$  is called homotopy limitation and  $u_0$  is an original proximate as the explanation about (2.1.1), and that delight the initial condition. certainly, about (2.1.4) or (2.1.5), we get,

$$H(v, 1) = K(v) - K(u_0) = 0$$
 (2.1.6)

$$H(v, 1) = B(v) - g(s) = 0$$
 (2.1.7)

Along with altering action like p from zero to unity is just that of H(v, p) from  $K(v) - K(u_0)$  to B(v) - g(s).

In topology, here is called deformative K(v) -  $K(u_0)$  and B(v) - g(s) are called homotopy

We suppose that the explanation as (2.1.4) or (2.1.5) we write as a series in p as pursue:

$$V = v_0 + pv_1 + p^2v_2 + p^3v_3 + \dots$$
 (2.1.8)

Putting p = 1 result in the proximate explanation as

$$U = \lim_{n \to 1} v = v_0 + v_1 + v_2 + v_3 + \dots$$

For application of this method below some examples are given.

## A. Example 1

Let's consider (3+1) dimension Burger equation [7,9]

$$\frac{\partial \phi}{\partial t} + a \left[ \phi \frac{\partial \phi}{\partial a} + \phi \frac{\partial \phi}{\partial r} + \phi \frac{\partial \phi}{\partial s} \right] = b \left[ \frac{\partial^2 \phi}{\partial a^2} + \frac{\partial^2 \phi}{\partial r^2} + \frac{\partial^2 \phi}{\partial s^2} \right]$$
(1.1)

Initial condition

$$\phi(q, r, s, 0) = e^{q+r+s};$$
 (1.2)

The homotopy equation are:

$$\frac{\partial \phi}{\partial t} = p\left[\frac{\partial \phi}{\partial t} - a\left[\phi \phi_q + \phi \phi_r + \phi \phi_s\right] + b\left[\phi_{qq} + \phi_{rr} + \phi_{ss}\right] - D_t \phi\right]$$
(1.3)

The explanation of equation (1.3), (1.2) as power series in p

$$\phi = \phi_0 + p\phi_1 + p^2\phi_2 + p^3\phi_3 + \cdots \tag{1.4}$$

Therefore, putting (1.4), and the initial conditions (1.2) into the (1.3) and comparing the indication by exact power of p. we get the henceforth set of linear PDE.

$$\frac{\partial \phi_0}{\partial t} = 0, \, \phi_0 = q + r + s \tag{1.5}$$

$$\frac{-\partial \phi_1}{\partial t} = \left[\frac{\partial \phi_0}{\partial t} - a\phi_0(\phi_0)_q - a\phi_0(\phi_0)_r - a\phi_0(\phi_0)_s + b(\phi_0)_{qq} + b(\phi_0)_{rr} + b(\phi_0)_{ss} - D_t\phi_0\right]; \phi_1(\mathbf{q}, \mathbf{r}, \mathbf{s}, 0) = 0$$

$$\frac{\partial \phi_1}{\partial t} = -a(e^{q+r+s}) (e^{q+r+s}) - a(e^{q+r+s}) (e^{q+r+s}) - a(e^{q+r+s}) - a(e^{q+r+s}) e^{q+r+s} + be^{q+r+s} + be^{q+r+s} + be^{q+r+s}$$

$$\phi_1 = (-3a+3b)(e^{q+r+s})t$$
 (1.6)

$$\begin{array}{ll} \frac{\partial \phi_2}{\partial t} & = & [\frac{\partial \phi_1}{\partial t} & -a\phi_0(\phi_1)_q - a\phi_1(\phi_0)_q - a\phi_1(\phi_0)_r - a\phi_0(\phi_1)_r - a\phi_1(\phi_0)_s - a\phi_0(\phi_1)_s + b(\phi_0)_{qq} + b(\phi_0)_{rr} + b(\phi_0)_{ss} - D_t\phi_1], \ \phi_2(\mathbf{q},\mathbf{r},\mathbf{s},0) = 0 \end{array}$$

$$\frac{\partial \phi_2}{\partial t} = -a(e^{q+r+s}) \left( -3a + 3b \right) t - (-3at + 3bt) (e^{q+r+s}) (1 - a(q+r+s)(-3at) - a(-3at(q+r+s) - a(q+r+s) - a(q+r+s$$

$$\phi_2 = 9a^2 + 9b^2t^2 (e^{q+r+s}) \tag{1.7}$$

 $\phi_0 = e^{q+r+s}$ 

$$\phi_1 = (-3a + 3b)(e^{q+r+s})t$$

$$\phi_2 = (9a^2 + 9b^2)(e^{q+r+s})t^2$$

:

:

Therefore, explanation of the Burger's standard is obtained by Homotopy Perturbation Method.

$$\phi$$
 (q, r, s, t) =  $\sum_{i=0}^{n-1} \phi_i$ (q, r, s, t)

$$= \phi_0 + \phi_1 + \phi_2 + \dots$$

= 
$$e^{q+r+s}$$
- (3a - 3b) ( $e^{q+r+s}$ )t + (9 $a^2$  - 9 $b^2$ ) ( $e^{q+r+s}$ ) $t^2$ -.....

$$= e^{q+r+s} (1-3at+9a^2t^2-...)+e^{q+r+s} (3bt-9b^2t^2+...)$$

$$=\frac{e^{q+r+s}}{1-3at}+ \frac{e^{q+r+s}(3bt)}{1-3bt}$$

Here we have taken (3+1) D Burger's equation. This is the accurate explanation of Burger's models.

# B. Example 2

Consider Non-linear PDE [10,20]

$$\phi_t + \epsilon \phi_x + \phi = 1 \tag{2.1}$$

$$\epsilon_t$$
 - $\phi \epsilon_x$ -  $\epsilon = 1$  (2.2)

initial condition.

$$\phi(x,0) = x^2; \quad \epsilon(x,0) = x^{-2} \tag{2.3}$$

The homotopy equation (3.1.11), (3.1.12) are;

$$\frac{\partial \Phi}{\partial t} = p \left[ \frac{\partial \Phi}{\partial t} + 1 - (\epsilon \Phi_x + \Phi) - D_t \Phi \right] \tag{2.4}$$

$$\frac{\partial \epsilon}{\partial t} = p\left[\frac{\partial \epsilon}{\partial t} + 1 + (\phi \epsilon_x + \epsilon) - D_t \epsilon\right] \tag{2.5}$$

The explanation of equation (2.1), (2.2) as power series in p

$$\phi = \phi_0 + p\phi_1 + p^2\phi_2 + p^3\phi_3 + \cdots \tag{2.6}$$

$$\epsilon = \epsilon_0 + p\epsilon_1 + p^2\epsilon_2 + p^3\epsilon_3 + \dots$$
 (2.7)

Therefore, putting (2.6), (2.7) and the initial conditions (2.3) into the (2.4) and (2.5) and comparing the indication by exact power of p, we get the henceforth set of linear PDE.

$$\frac{\partial \phi_0}{\partial t} = 0, \phi = x^2 \tag{2.8}$$

$$\frac{\partial \epsilon_0}{\partial t} = 0, \epsilon = x^{-2} \tag{2.9}$$

$$\frac{\partial \phi_1}{\partial t} = \left[\frac{\partial \phi_0}{\partial t} + 1 - \epsilon_0 (\phi_0)_q - \phi_0 - D_t \phi_0\right]; \phi_1(\mathbf{x}, 0) = 0 \tag{2.10}$$

$$\frac{\partial \phi_1}{\partial t} = \begin{bmatrix} 1 - x^{-2} x^2 & -x^2 \end{bmatrix}$$

$$\phi_1 = -tx^2$$

$$\frac{\partial \epsilon_1}{\partial t} = \left[\frac{\partial \phi_0}{\partial t} + 1 + \phi_0(\epsilon_0)_x + \epsilon_0 - D_t \epsilon_0\right]; \ \epsilon_1(x,0) = 0$$
 (2.11)

$$\frac{\partial \epsilon_1}{\partial t} = \begin{bmatrix} 1 + (-x^{-2})x^2 & +x^{-2} \end{bmatrix}$$

$$\epsilon_1 = tx^{-2}$$

$$\frac{\partial \phi_2}{\partial t} = \left[ \frac{\partial \phi_1}{\partial t} - \epsilon_0 (\phi_1)_x - \epsilon_1 (\phi_0)_x - \phi_1 - D_t \phi_1 \right], \ \phi_2(x, 0) = 0$$
 (2.12)

$$\frac{\partial \Phi_2}{\partial t} = \left[ -x^{-2}(-x^2t) - tx^{-2}x^2 - (-tx^2) \right]$$

$$\phi_2 = x^2 \frac{t^2}{2}$$

$$\frac{\partial \epsilon_2}{\partial t} = \left[ \frac{\partial \epsilon_1}{\partial t} + \phi_0(\epsilon_1)_x + \phi_1(\epsilon_0)_x + \epsilon_1 - D_t \epsilon_1 \right], \ \epsilon_2(x, 0) = 0$$
 (2.13)

$$\frac{\partial \epsilon_2}{\partial t} = [x^2(-x^{-2}t) + (-tx^2)(-x^{-2}) + (tx^{-2})]$$

$$\epsilon_2 = x^{-2} \frac{t^2}{2}$$

$$\phi_0 = x^2$$

$$\epsilon_0 = x^{-2}$$

$$\phi_1 = -t x^2$$

$$\epsilon_1 = t x^{-2}$$

$$\phi_2 = x^2 \frac{t^2}{2}$$

$$\epsilon_2 = x^{-2} \frac{t^2}{2}$$

:

:

Therefore, explanation of the Burger's standard is obtained by Homotopy Perturbation Method.

$$\phi(\mathbf{x}, t) = \sum_{i=0}^{n-1} \phi_i(\mathbf{x}, t)$$

$$= \phi_0 + \phi_1 + \phi_2 + \dots$$

$$= x^2 - t x^2 + x^2 \frac{t^2}{2} - \dots$$

$$= x^2 e^{-t}$$

$$\epsilon(\mathbf{x}, \mathbf{t}) = \sum_{i=0}^{n-1} \epsilon_i(\mathbf{x}, \mathbf{t})$$

$$= \epsilon_0 + \epsilon_1 + \epsilon_2 + \dots$$

$$= x^{-2} + t x^{-2} + x^{-2} \frac{t^2}{2} - \dots$$

$$= x^{-2} e^t$$

In this problem we have used the HPM to solve the non-linear equation and obtained the exact solution of the problem. The methods will help us understand the importance of HPM.

# C. Example 3

Consider a Non-linear equation [6,11]

$$u_t + v_q w_r + v_r w_q = -\mathbf{u} \tag{3.1}$$

$$v_t + w_q u_r + w_r u_q = v ag{3.2}$$

$$w_t + u_a v_r + u_r v_a = w ag{3.3}$$

Initial condition

$$u(q, r, 0) = (q + r)$$
 (3.4)

v(q, r, 0) = (q - r)

$$w(q, r, 0) = (-q + r)$$
 (3.5)

The homotopy equation (3.1), (3.2), (3.3) are.

$$\frac{\partial u}{\partial t} = p\left[\frac{\partial u}{\partial t} - u - v_q w_r + v_r w_q - D_t u\right]$$
(3.6)

$$\frac{\partial v}{\partial t} = p\left[\frac{\partial v}{\partial t} + v - w_q u_r - w_r u_q - D_t v\right] \tag{3.7}$$

$$\frac{\partial w}{\partial t} = p\left[\frac{\partial w}{\partial t} + w - u_q v_r - u_r v_q - D_t w\right]$$
(3.8)

The explanation of equation (3.6), (3.7), (3.8) as power series in p

$$u = u_0 + pu_1 + p^2u_2 + p^3u_3 + \dots (3.9)$$

$$v = v_0 + pv_1 + p^2v_2 + p^3v_3 + \dots (3.10)$$

$$w = w_0 + pw_1 + p^2w_2 + p^3w_3 + \dots (3.11)$$

Therefore, putting above equations and the initial conditions and comparing the indication by exact power of p, we get the henceforth set of linear PDE.

$$\frac{\partial u_0}{\partial t} = 0, u_0 = (q + r)$$

$$\frac{\partial v_0}{\partial t} = 0$$
,  $v_0 = (q - r)$ 

$$\frac{\partial w_0}{\partial t} = 0, w_0 = (-q + r)$$

$$\frac{\partial u_1}{\partial t} = [-u_0 - (v_0)_q (w_0)_r + (v_0)_r (w_0)_q];$$

$$u_1(q, r, 0) = 0$$

$$= [-(q+r)-(1)(1)+(-1)(-1)]$$

$$u_1 = -t(q+r)$$

$$\frac{\partial v_1}{\partial t} = [v_0 - (w_0)_q (u_0)_r - (w_0)_r (u_0)_q;$$

$$v_1(q, r, 0) = 0$$

$$= [q - r) - (-1)(1) - (1)(1)]$$

$$v_1 = t(q - r)$$

$$\tfrac{\partial w_1}{\partial t} \ = [w_0 - (u_0)_q (v_0)_r - (u_0)_r (v_0)_q];$$

$$w_1(q, r, 0) = 0$$

$$= [(-q+r)-(1)(-1)-(1)(1)]$$

$$w_1 = t(-q + r)$$

$$\frac{\partial u_2}{\partial t} = \left[ -(v_0)_q (w_1)_r - (v_1)_q (w_0)_r + (v_0)_r (w_1)_q + (v_1)_r (w_0)_q \right]; \quad u_2 (q, r, 0) = 0$$

$$u_2 = \frac{t^2}{2}(q+r)$$

$$\frac{\partial v_2}{\partial t} = \left[ -(w_0)_q (u_1)_r - (w_1)_q (u_0)_r - (w_0)_r (u_1)_q - (w_1)_r (u_0)_q \right]; \quad v_2 \ (\mathbf{q}, \mathbf{r}, 0) = 0$$

$$v_2 = \frac{t^2}{2}(q-r)$$

$$\frac{\partial w_2}{\partial t} = [-(u_0)_q(v_1)_r - (u_1)_q(v_0)_r - (u_0)_r(v_1)_q - (u_1)_r(v_0)_q]; w_2 \text{ (q, r, 0)} = 0$$

$$w_2 = \frac{t^2}{2}(-q+r)$$

Continuing in this process we get.

$$u = u_0 + u_1 + u_2 + \dots$$

$$u = (q + r) - t(q + r) + \frac{t^2}{2}(q + r)$$

$$\mathbf{u} = (\mathbf{q} + \mathbf{r}) e^{-t}$$

$$v = v_0 + v_1 + v_2 + \dots$$

$$v = (q - r) + t(q - r) + \frac{t^2}{2}(q - r) + \dots$$

$$v = (q - r)e^{t}$$

$$w = w_{0} + w_{1} + w_{2} + \dots$$

$$w = (-q + r) + t(-q + r) + \frac{t^{2}}{2}(-q + r) + \dots$$

In the above problem we have taken three simultaneous non-linear equations and then applied the homotopy technique to these equations. By applying the technique, we get a new form of solutions for u, v and w

$$\mathbf{w} = (-\mathbf{q} + \mathbf{r})e^t.$$

 $\mathbf{w} = (-\mathbf{q} + \mathbf{r})e^t$ 

This is the solution of the equations..

### III. CONCLUSION

In this paper, we have considered a nonlinear (3+1) dimension Burger's equation, and many more nonlinear differential equations. We have provided different boundary conditions under which the present problem has a unique solution. We have also observed that this approach may lead to the exact solution of the problems. Furthermore, this method is a powerful tool to solve different types of PDE. Thus, the HPM is capable in observing the comparative or analytic explication of the linear and nonlinear PDE. It is also a helpful and useful method to solve the PDE.

#### ACKNOWLEDGMENT

The researcher wish to extend it sincere gratitude and appreciation towards Prince Sultan University, Riyadh, Saudi Arabia for providing generous support in the completion of this research.

## **REFERENCES**

- [1] J. H. He, Homotopy Perturbation Tchnique, Computer Methods in Applied Mechanics and Engineering, 178 (1999) 257.
- [2] J.H. He, A coupling method of a Homotopy technique and a perturbation technique for nonlinear problems, Int. J. Non-Linear Mech. 35(1) (2000) 37.
- [3] J. H. He, The Homotopy perturbation method for non linear oscillators with discontinuities, Appl. Math. Comput. 151(1) (2004) 287.
- [4] Ji-Huan He, Recent Development of the Homotopy Perturbation Method, Topological Methods in Nonlinear Analysis, Journal of the Juliusz Schauder 31(2008) 205.
- [5] T. Zhanlav, O. Chuluunbaatar V. Ulziibayar, Higher-Order Numerical Solution of Two-Dimensional Coupled Burger's Equations, American Journal of Computational Mathematics, 6 (2016)120.
- [6] Suleman M. Qingbiao W. Ghulam A. Approximate analytic solution of (2 + 1) dimensional coupled differential Burger's equation using Elzaki Homotopy Perturbation Method, Alexandria Engineering Journal 55 (2016)1817.
- [7] Fatima. N, Homotopy Perturbation Method for Solving Boussinesq and Fishers Type Equation, Published in Proceedings Second (IEEE) International Conference on Computational Intelligence & Communication Technology, (2016).
- [8] Mohammed M., Tarig M. E., Some systems of nonlinear partial differential equations by using Adomian and modified decomposition methods, African Journal of Mathematics and Computer Science Research, 7 (2014) 61-67.
- [9] Monika Dhariwal & Nahid Fatima, Comparison of Homotopy Perturbation Method with New Homotopy Perturbation Method, @ 2019SUSCOM, Hosting by Elsevier SSRN (2019) 2272.
- [10] Nahid Fatima & Sunita Daniel, Solution of Wave Equations and Heat Equations using HPM, Applied Mathematics and Scientific Computing, © Springer Nature Switzerland AG, 1 (2019) 367.
- [11] Nahid Fatima & Monica Dhariwal, Solution of nonlinear Coupled Burger and linear Burgers equation, International Journal of Engineering & Technology UAE, 7(2018) 670.
- [12] Nahid Fatima, The Study of Heat Conduction Equation by Homotopy Perturbation Method. SN Computer Science, 3 (2022) 65.
- [13] Nahid Fatima & Monika Dhariwal, Solutions of Differential Equations for Prediction of COVID-19 Cases by Homotopy Perturbation Method, Taylor & Francis Group Chapter in Intelligent Computing Applications for COVID-19, 1 (2021)17.
- [14] Liao, S.J. (1992). The proposed homotopy analysis technique for the solution of linear problems. Ph.D. Thesis, Shanghai Jiao Tong University.
- [15] Ji-Huan He, Xu-Hong Wu, Variational iteration method: New development and applications, science direct, Computers and Mathematics with Applications, 54 (2007) 881–894.
- [16] Gupta, Neelam and Kanth, Neel Study of heat flow in a rod using homotopy analysis method and homotopy perturbation method Cite as: AIP Conference Proceedings 2061, 020013 (2019). https://doi.org/10.1063/1.5086635Published Online: 10 January 2019
- [17] Xiao-Xia Li1 and Chunhui He1,2, Homotopy perturbation method coupled with the enhanced perturbation method Journal of Low Frequency Noise, Vibration and Active Control, The Author(s), 0(0) (2018) 1-5. DOI: 10.1177/1461348418800554 journals.sagepub.com/home/lfn.
- [18] A.-M. Wazwaz, A reliable technique for solving the wave equation in an infinite one-dimensional medium, Applied Mathematics and Computation, 92(1) (1998) 1–7.
- [19] A.-M. Wazwaz, Adomian decomposition method for a reliable treatment of the Bratu-type equations, Applied Mathematics and Computation, 166(3) (2005) 652–663.
- [20] Musa Rahamh Gad-Allah a & Tarig M. Elzaki b, An Application of improvement of New Homotopy Perturbation Method for Solving Third Order Nonlinear Singular Partial Differential Equations, ISSN 2456-1312, Universal Journal of Mathematics, 2(1).
- [21] Mohammed M., Tarig M. E., A study some systems of nonlinear partial differential equations by using Adomian and modified decomposition methods, African Journal Of Mathematics And Computer Science Research, 7 (2014) 61-67.
- [22] Dan-Ni Yu, Ji-Huan He, Andres G Garcia First, Homotopy perturbation method with an auxiliary parameter for nonlinear oscillators Published November 18, (2018). Collection https://doi.org/10.1177/1461348418811028

- Yue Wua, Ji-Huan Heb, Homotopy perturbation method for nonlinear oscillators with coordinate dependent mass, Results in Physics, 10 (2018) 270-271 [23]
- N Fatima; Solution of gas dynamic and wave equations with VIM Advances in Fluid Dynamics, (2021). Ji-Huan He, Recent Development of The Homotopy Perturbation Method, Topological Methods in Nonlinear Analysis Journal of the Juliusz Schauder Center, 31 (2008) 205–209. [24] [25]